Pacejka ’96 Model

Indy Lights Road Course Specifications 2017
(8171 240/600R15, 8172 330/620R15) 

Please find the Pacejka ’96 Pure Lateral tyre model for the 2017 Indy Lights road course specifications. 

For the purposes of the Pacejka Model creation, all values from the original stabrig data were converted to Newtons.  All angular measurements are in degrees (°).  A positive vertical force was considered to be downwards.  A positive slip angle was considered to be as if the tyre was turning right.

	
	240/600R15
	330/620R15

	[VERTICAL]
	
	

	FNOMIN =
	3937.02597
	8702.332641


	[ALIGNING COEFFICIENTS]

	QBZ1 =
	0
	0

	QBZ2 =
	0
	0

	QBZ3 =
	0
	0

	QBZ4 =
	0
	0

	QBZ5 =
	0
	0

	QBZ9 =
	0
	0

	QCZ1 =
	0
	0

	QDZ1 =
	0
	0

	QDZ2 =
	0
	0

	QDZ3 =
	0
	0

	QDZ4 =
	0
	0

	QDZ6 =
	0
	0

	QDZ7 =
	0
	0

	QDZ8 =
	0
	0

	QDZ9 =
	0
	0

	QEZ1 =
	0
	0

	QEZ2 =
	0
	0

	QEZ3 =
	0
	0

	QEZ4 =
	0
	0

	QEZ5 =
	0
	0

	QHZ1 =
	0
	0

	QHZ2 =
	0
	0

	QHZ3 =
	0
	0

	QHZ4 =
	0
	0


	 [LATERAL COEFFICIENTS]

	PCY1 =
	0.331530
	0.418367

	PDY1 =
	-14.883921
	-30.825058

	PDY2 =
	24.350803
	3.169094

	PDY3 =
	-53.964397
	-9.869356


	
	240/600R15
	330/620R15

	PEY1 =
	-0.043007
	-0.330287

	PEY2 =
	0.366372
	0.286806

	PEY3 =
	-2.558757
	-1.228260

	PEY4 =
	-20.538501
	-9.962803

	PKY1 =
	-25.615116
	-18.307498

	PKY2 =
	0.120155
	0.036992

	PKY3 =
	1.068350
	0.152287

	PHY1 =
	0.008557
	0.005871

	PHY2 =
	-0.000151
	-0.001957

	PHY3 =
	0.087215
	0.008867

	PVY1 =
	0.000702
	0.265034225

	PVY2 =
	-0.000307
	-0.013057

	PVY3 =
	-0.383367
	-0.170884

	PVY4 =
	-0.873039
	-0.844190


	[LONGITUDINAL COEFFICIENTS]

	PCX1 =
	0
	0

	PDX1 =
	0
	0

	PDX2 =
	0
	0

	PEX1 =
	0
	0

	PEX2 =
	0
	0

	PEX3 =
	0
	0

	PEX4 =
	0
	0

	PKX1 =
	0
	0

	PKX2 =
	0
	0

	PKX3 =
	0
	0

	PHX1 =
	0
	0

	PHX2 =
	0
	0

	PVX1 =
	0
	0

	PVX2 =
	0
	0


	[DATA]
	
	

	CAMBER =
	0
	0


	
	240/600R15
	330/620R15

	[VERTICAL]
	
	

	FNOMIN =
	4120.00000
	8274.646522


	[ALIGNING COEFFICIENTS]

	QBZ1 =
	0
	0

	QBZ2 =
	0
	0

	QBZ3 =
	0
	0

	QBZ4 =
	0
	0

	QBZ5 =
	0
	0

	QBZ9 =
	0
	0

	QCZ1 =
	0
	0

	QDZ1 =
	0
	0

	QDZ2 =
	0
	0

	QDZ3 =
	0
	0

	QDZ4 =
	0
	0

	QDZ6 =
	0
	0

	QDZ7 =
	0
	0

	QDZ8 =
	0
	0

	QDZ9 =
	0
	0

	QEZ1 =
	0
	0

	QEZ2 =
	0
	0

	QEZ3 =
	0
	0

	QEZ4 =
	0
	0

	QEZ5 =
	0
	0

	QHZ1 =
	0
	0

	QHZ2 =
	0
	0

	QHZ3 =
	0
	0

	QHZ4 =
	0
	0


	 [LATERAL COEFFICIENTS]

	PCY1 =
	0.518937
	0.380266

	PDY1 =
	-16.039209
	-34.826816

	PDY2 =
	9.765428
	3.519421

	PDY3 =
	-3.299137
	-11.623428


	
	240/600R15
	330/620R15

	PEY1 =
	-0.275755
	-0.173673

	PEY2 =
	0.153037
	0.119374

	PEY3 =
	-1.997716
	-1.458072

	PEY4 =
	-21.846302
	-11.708766

	PKY1 =
	-24.279907
	-19.316365

	PKY2 =
	0.108305
	0.037339

	PKY3 =
	0.437486
	0.123534

	PHY1 =
	0.007038
	0.004835

	PHY2 =
	-0.002396
	-0.001648

	PHY3 =
	0.185691
	0.078289

	PVY1 =
	0.006140
	0.009314

	PVY2 =
	-0.020590
	-0.011627

	PVY3 =
	-0.617232
	-0.119348

	PVY4 =
	-0.952713
	-0.879682


	[LONGITUDINAL COEFFICIENTS]

	PCX1 =
	0
	0

	PDX1 =
	0
	0

	PDX2 =
	0
	0

	PEX1 =
	0
	0

	PEX2 =
	0
	0

	PEX3 =
	0
	0

	PEX4 =
	0
	0

	PKX1 =
	0
	0

	PKX2 =
	0
	0

	PKX3 =
	0
	0

	PHX1 =
	0
	0

	PHX2 =
	0
	0

	PVX1 =
	0
	0

	PVX2 =
	0
	0


	[DATA]
	
	

	CAMBER =
	0.5
	0.5


	
	240/600R15
	330/620R15

	[VERTICAL]
	
	

	FNOMIN =
	4120.00000
	8274.646522


	[ALIGNING COEFFICIENTS]

	QBZ1 =
	0
	0

	QBZ2 =
	0
	0

	QBZ3 =
	0
	0

	QBZ4 =
	0
	0

	QBZ5 =
	0
	0

	QBZ9 =
	0
	0

	QCZ1 =
	0
	0

	QDZ1 =
	0
	0

	QDZ2 =
	0
	0

	QDZ3 =
	0
	0

	QDZ4 =
	0
	0

	QDZ6 =
	0
	0

	QDZ7 =
	0
	0

	QDZ8 =
	0
	0

	QDZ9 =
	0
	0

	QEZ1 =
	0
	0

	QEZ2 =
	0
	0

	QEZ3 =
	0
	0

	QEZ4 =
	0
	0

	QEZ5 =
	0
	0

	QHZ1 =
	0
	0

	QHZ2 =
	0
	0

	QHZ3 =
	0
	0

	QHZ4 =
	0
	0


	 [LATERAL COEFFICIENTS]

	PCY1 =
	0.414889
	0.340204

	PDY1 =
	-25.445604
	-38.361775

	PDY2 =
	4.339073
	4.286901

	PDY3 =
	-3.139604
	-13.786893


	
	240/600R15
	330/620R15

	PEY1 =
	-0.096322
	-0.132525

	PEY2 =
	0.177672
	0.095693

	PEY3 =
	-1.528739
	-1.334451

	PEY4 =
	-30.281253
	-13.115607

	PKY1 =
	-25.444722
	-18.562608

	PKY2 =
	0.104521
	0.040538

	PKY3 =
	0.103728
	0.108625

	PHY1 =
	0.008438
	0.004001

	PHY2 =
	-0.000184
	-0.001298

	PHY3 =
	0.176333
	0.062827

	PVY1 =
	0.006117
	0.010620

	PVY2 =
	-0.008573
	-0.014592

	PVY3 =
	-0.882298
	-0.127523

	PVY4 =
	-2.866195
	-0.740904


	[LONGITUDINAL COEFFICIENTS]

	PCX1 =
	0
	0

	PDX1 =
	0
	0

	PDX2 =
	0
	0

	PEX1 =
	0
	0

	PEX2 =
	0
	0

	PEX3 =
	0
	0

	PEX4 =
	0
	0

	PKX1 =
	0
	0

	PKX2 =
	0
	0

	PKX3 =
	0
	0

	PHX1 =
	0
	0

	PHX2 =
	0
	0

	PVX1 =
	0
	0

	PVX2 =
	0
	0


	[DATA]
	
	

	CAMBER =
	1
	1


	
	240/600R15
	330/620R15

	[VERTICAL]
	
	

	FNOMIN =
	4120.00000
	8347.800967


	[ALIGNING COEFFICIENTS]

	QBZ1 =
	0
	0

	QBZ2 =
	0
	0

	QBZ3 =
	0
	0

	QBZ4 =
	0
	0

	QBZ5 =
	0
	0

	QBZ9 =
	0
	0

	QCZ1 =
	0
	0

	QDZ1 =
	0
	0

	QDZ2 =
	0
	0

	QDZ3 =
	0
	0

	QDZ4 =
	0
	0

	QDZ6 =
	0
	0

	QDZ7 =
	0
	0

	QDZ8 =
	0
	0

	QDZ9 =
	0
	0

	QEZ1 =
	0
	0

	QEZ2 =
	0
	0

	QEZ3 =
	0
	0

	QEZ4 =
	0
	0

	QEZ5 =
	0
	0

	QHZ1 =
	0
	0

	QHZ2 =
	0
	0

	QHZ3 =
	0
	0

	QHZ4 =
	0
	0


	 [LATERAL COEFFICIENTS]

	PCY1 =
	0.633119
	0.270762

	PDY1 =
	-18.119597
	-47.381657

	PDY2 =
	2.051504
	5.670225

	PDY3 =
	-6.714551
	-15.652989


	
	240/600R15
	330/620R15

	PEY1 =
	-0.259492
	-0.054628

	PEY2 =
	0.281792
	0.041968

	PEY3 =
	-0.715599
	-0.861432

	PEY4 =
	-15.810995
	-14.237039

	PKY1 =
	-24.542141
	-18.342416

	PKY2 =
	0.097005
	0.039967

	PKY3 =
	0.062995
	0.129526

	PHY1 =
	0.006948
	0.003151

	PHY2 =
	-0.000730
	-0.001198

	PHY3 =
	0.014246
	0.085994

	PVY1 =
	0.008131
	0.006947

	PVY2 =
	-0.014878
	-0.014298

	PVY3 =
	-0.153555
	-0.108607

	PVY4 =
	-0.540844
	-0.559356


	[LONGITUDINAL COEFFICIENTS]

	PCX1 =
	0
	0

	PDX1 =
	0
	0

	PDX2 =
	0
	0

	PEX1 =
	0
	0

	PEX2 =
	0
	0

	PEX3 =
	0
	0

	PEX4 =
	0
	0

	PKX1 =
	0
	0

	PKX2 =
	0
	0

	PKX3 =
	0
	0

	PHX1 =
	0
	0

	PHX2 =
	0
	0

	PVX1 =
	0
	0

	PVX2 =
	0
	0


	[DATA]
	
	

	CAMBER =
	1.5
	1.5


	
	240/600R15
	330/620R15

	[VERTICAL]
	
	

	FNOMIN =
	4120.00000
	5611.190342


	[ALIGNING COEFFICIENTS]

	QBZ1 =
	0
	0

	QBZ2 =
	0
	0

	QBZ3 =
	0
	0

	QBZ4 =
	0
	0

	QBZ5 =
	0
	0

	QBZ9 =
	0
	0

	QCZ1 =
	0
	0

	QDZ1 =
	0
	0

	QDZ2 =
	0
	0

	QDZ3 =
	0
	0

	QDZ4 =
	0
	0

	QDZ6 =
	0
	0

	QDZ7 =
	0
	0

	QDZ8 =
	0
	0

	QDZ9 =
	0
	0

	QEZ1 =
	0
	0

	QEZ2 =
	0
	0

	QEZ3 =
	0
	0

	QEZ4 =
	0
	0

	QEZ5 =
	0
	0

	QHZ1 =
	0
	0

	QHZ2 =
	0
	0

	QHZ3 =
	0
	0

	QHZ4 =
	0
	0


	 [LATERAL COEFFICIENTS]

	PCY1 =
	0.460242
	0.609624

	PDY1 =
	-22.981767
	-22.297376

	PDY2 =
	3.174703
	1.950719

	PDY3 =
	-5.338515
	-1.738916


	
	240/600R15
	330/620R15

	PEY1 =
	-0.381802
	-0.092743

	PEY2 =
	0.219690
	0.107137

	PEY3 =
	-0.313286
	-0.053202

	PEY4 =
	-40.937360
	-22.385895

	PKY1 =
	-24.180261
	-26.817172

	PKY2 =
	0.097456
	0.063446

	PKY3 =
	0.164955
	0.186300

	PHY1 =
	0.004486
	0.002131

	PHY2 =
	-0.001886
	-0.001016

	PHY3 =
	0.036708
	0.030458

	PVY1 =
	0.040896
	0.024034

	PVY2 =
	-0.007219
	-0.015298

	PVY3 =
	-0.441618
	-0.241707

	PVY4 =
	-0.345383
	-0.263626


	[LONGITUDINAL COEFFICIENTS]

	PCX1 =
	0
	0

	PDX1 =
	0
	0

	PDX2 =
	0
	0

	PEX1 =
	0
	0

	PEX2 =
	0
	0

	PEX3 =
	0
	0

	PEX4 =
	0
	0

	PKX1 =
	0
	0

	PKX2 =
	0
	0

	PKX3 =
	0
	0

	PHX1 =
	0
	0

	PHX2 =
	0
	0

	PVX1 =
	0
	0

	PVX2 =
	0
	0


	[DATA]
	
	

	CAMBER =
	2
	2


	
	240/600R15
	330/620R15

	[VERTICAL]
	
	

	FNOMIN =
	4120.00000
	5611.190342


	[ALIGNING COEFFICIENTS]

	QBZ1 =
	0
	0

	QBZ2 =
	0
	0

	QBZ3 =
	0
	0

	QBZ4 =
	0
	0

	QBZ5 =
	0
	0

	QBZ9 =
	0
	0

	QCZ1 =
	0
	0

	QDZ1 =
	0
	0

	QDZ2 =
	0
	0

	QDZ3 =
	0
	0

	QDZ4 =
	0
	0

	QDZ6 =
	0
	0

	QDZ7 =
	0
	0

	QDZ8 =
	0
	0

	QDZ9 =
	0
	0

	QEZ1 =
	0
	0

	QEZ2 =
	0
	0

	QEZ3 =
	0
	0

	QEZ4 =
	0
	0

	QEZ5 =
	0
	0

	QHZ1 =
	0
	0

	QHZ2 =
	0
	0

	QHZ3 =
	0
	0

	QHZ4 =
	0
	0


	 [LATERAL COEFFICIENTS]

	PCY1 =
	0.453683
	0.532528

	PDY1 =
	-25.870089
	-25.694678

	PDY2 =
	4.121837
	2.815923

	PDY3 =
	-4.071115
	-2.319614


	
	240/600R15
	330/620R15

	PEY1 =
	-0.241452
	-0.064534

	PEY2 =
	0.268634
	0.068701

	PEY3 =
	-0.107718
	-0.050202

	PEY4 =
	-29.861263
	-22.571908

	PKY1 =
	-25.936626
	-25.420577

	PKY2 =
	0.066552
	0.065217

	PKY3 =
	0.206875
	0.156778

	PHY1 =
	0.003362
	0.001509

	PHY2 =
	-0.000903
	-0.000734

	PHY3 =
	0.013459
	0.030491

	PVY1 =
	0.043192
	0.028714

	PVY2 =
	-0.016041
	-0.022157

	PVY3 =
	-0.690709
	-0.173652

	PVY4 =
	-0.471582
	-0.360249


	[LONGITUDINAL COEFFICIENTS]

	PCX1 =
	0
	0

	PDX1 =
	0
	0

	PDX2 =
	0
	0

	PEX1 =
	0
	0

	PEX2 =
	0
	0

	PEX3 =
	0
	0

	PEX4 =
	0
	0

	PKX1 =
	0
	0

	PKX2 =
	0
	0

	PKX3 =
	0
	0

	PHX1 =
	0
	0

	PHX2 =
	0
	0

	PVX1 =
	0
	0

	PVX2 =
	0
	0


	[DATA]
	
	

	CAMBER =
	2.5
	2.5


	
	240/600R15
	330/620R15

	[VERTICAL]
	
	

	FNOMIN =
	4120.00000
	5611.190342


	
	240/600R15
	330/620R15

	PEY1 =
	-0.156447
	-0.046174

	PEY2 =
	0.119721
	0.064128

	PEY3 =
	-0.060973
	-0.045210

	PEY4 =
	-33.979731
	-27.608009

	PKY1 =
	-27.091834
	-24.337776

	PKY2 =
	0.067758
	0.064783

	PKY3 =
	0.205797
	0.191147

	PHY1 =
	0.001738
	0.000703

	PHY2 =
	-0.000514
	-0.000362

	PHY3 =
	0.067583
	0.039198

	PVY1 =
	0.013861
	0.039311

	PVY2 =
	-0.004698
	-0.028443

	PVY3 =
	-0.100585
	-0.171573

	PVY4 =
	-0.622631
	-0.330838


	[ALIGNING COEFFICIENTS]

	QBZ1 =
	0
	0

	QBZ2 =
	0
	0

	QBZ3 =
	0
	0

	QBZ4 =
	0
	0

	QBZ5 =
	0
	0

	QBZ9 =
	0
	0

	QCZ1 =
	0
	0

	QDZ1 =
	0
	0

	QDZ2 =
	0
	0

	QDZ3 =
	0
	0

	QDZ4 =
	0
	0

	QDZ6 =
	0
	0

	QDZ7 =
	0
	0

	QDZ8 =
	0
	0

	QDZ9 =
	0
	0

	QEZ1 =
	0
	0

	QEZ2 =
	0
	0

	QEZ3 =
	0
	0

	QEZ4 =
	0
	0

	QEZ5 =
	0
	0

	QHZ1 =
	0
	0

	QHZ2 =
	0
	0

	QHZ3 =
	0
	0

	QHZ4 =
	0
	0


	[LONGITUDINAL COEFFICIENTS]

	PCX1 =
	0
	0

	PDX1 =
	0
	0

	PDX2 =
	0
	0

	PEX1 =
	0
	0

	PEX2 =
	0
	0

	PEX3 =
	0
	0

	PEX4 =
	0
	0

	PKX1 =
	0
	0

	PKX2 =
	0
	0

	PKX3 =
	0
	0

	PHX1 =
	0
	0

	PHX2 =
	0
	0

	PVX1 =
	0
	0

	PVX2 =
	0
	0


	 [LATERAL COEFFICIENTS]

	PCY1 =
	0.534029
	0.422571

	PDY1 =
	-22.567432
	-31.941184

	PDY2 =
	2.421024
	2.995743

	PDY3 =
	-2.398713
	-1.893975


	[DATA]
	
	

	CAMBER =
	3
	3


	
	240/600R15
	330/620R15

	[VERTICAL]
	
	

	FNOMIN =
	4120.00000
	4120.000000


	
	240/600R15
	330/620R15

	PEY1 =
	-0.099141
	-0.030661

	PEY2 =
	0.078061
	0.027186

	PEY3 =
	-0.072427
	-0.022495

	PEY4 =
	-19.898881
	-12.093772

	PKY1 =
	-25.627939
	-32.682564

	PKY2 =
	0.072134
	0.088234

	PKY3 =
	0.308007
	0.098339

	PHY1 =
	0.000206
	0.000007

	PHY2 =
	-0.000158
	-0.000007

	PHY3 =
	0.065833
	0.067090

	PVY1 =
	0.009789
	0.007855

	PVY2 =
	-0.011612
	-0.035658

	PVY3 =
	-0.228934
	-0.277735

	PVY4 =
	-0.915888
	-0.877118


	[ALIGNING COEFFICIENTS]

	QBZ1 =
	0
	0

	QBZ2 =
	0
	0

	QBZ3 =
	0
	0

	QBZ4 =
	0
	0

	QBZ5 =
	0
	0

	QBZ9 =
	0
	0

	QCZ1 =
	0
	0

	QDZ1 =
	0
	0

	QDZ2 =
	0
	0

	QDZ3 =
	0
	0

	QDZ4 =
	0
	0

	QDZ6 =
	0
	0

	QDZ7 =
	0
	0

	QDZ8 =
	0
	0

	QDZ9 =
	0
	0

	QEZ1 =
	0
	0

	QEZ2 =
	0
	0

	QEZ3 =
	0
	0

	QEZ4 =
	0
	0

	QEZ5 =
	0
	0

	QHZ1 =
	0
	0

	QHZ2 =
	0
	0

	QHZ3 =
	0
	0

	QHZ4 =
	0
	0


	[LONGITUDINAL COEFFICIENTS]

	PCX1 =
	0
	0

	PDX1 =
	0
	0

	PDX2 =
	0
	0

	PEX1 =
	0
	0

	PEX2 =
	0
	0

	PEX3 =
	0
	0

	PEX4 =
	0
	0

	PKX1 =
	0
	0

	PKX2 =
	0
	0

	PKX3 =
	0
	0

	PHX1 =
	0
	0

	PHX2 =
	0
	0

	PVX1 =
	0
	0

	PVX2 =
	0
	0


	 [LATERAL COEFFICIENTS]

	PCY1 =
	0.416024
	0.323307

	PDY1 =
	-27.760993
	-38.335692

	PDY2 =
	4.713901
	5.676322

	PDY3 =
	-7.846321
	-11.291993


	[DATA]
	
	

	CAMBER =
	3.5
	3.5


	
	240/600R15
	330/620R15

	[VERTICAL]
	
	

	FNOMIN =
	4120.00000
	4120.000000


	
	240/600R15
	330/620R15

	PEY1 =
	-0.027239
	-0.028800

	PEY2 =
	0.025573
	0.046259

	PEY3 =
	-0.021045
	-0.038208

	PEY4 =
	-13.530162
	-4.261336

	PKY1 =
	-26.049371
	-31.281970

	PKY2 =
	0.070355
	0.093041

	PKY3 =
	0.212834
	0.310510

	PHY1 =
	0.000006
	0.000031

	PHY2 =
	-0.000008
	-0.000021

	PHY3 =
	0.075691
	0.048698

	PVY1 =
	0.006768
	0.005381

	PVY2 =
	-0.007046
	-0.003631

	PVY3 =
	-0.149947
	-0.241066

	PVY4 =
	-0.684920
	-0.352287


	[ALIGNING COEFFICIENTS]

	QBZ1 =
	0
	0

	QBZ2 =
	0
	0

	QBZ3 =
	0
	0

	QBZ4 =
	0
	0

	QBZ5 =
	0
	0

	QBZ9 =
	0
	0

	QCZ1 =
	0
	0

	QDZ1 =
	0
	0

	QDZ2 =
	0
	0

	QDZ3 =
	0
	0

	QDZ4 =
	0
	0

	QDZ6 =
	0
	0

	QDZ7 =
	0
	0

	QDZ8 =
	0
	0

	QDZ9 =
	0
	0

	QEZ1 =
	0
	0

	QEZ2 =
	0
	0

	QEZ3 =
	0
	0

	QEZ4 =
	0
	0

	QEZ5 =
	0
	0

	QHZ1 =
	0
	0

	QHZ2 =
	0
	0

	QHZ3 =
	0
	0

	QHZ4 =
	0
	0


	[LONGITUDINAL COEFFICIENTS]

	PCX1 =
	0
	0

	PDX1 =
	0
	0

	PDX2 =
	0
	0

	PEX1 =
	0
	0

	PEX2 =
	0
	0

	PEX3 =
	0
	0

	PEX4 =
	0
	0

	PKX1 =
	0
	0

	PKX2 =
	0
	0

	PKX3 =
	0
	0

	PHX1 =
	0
	0

	PHX2 =
	0
	0

	PVX1 =
	0
	0

	PVX2 =
	0
	0


	 [LATERAL COEFFICIENTS]

	PCY1 =
	0.423581
	0.443312

	PDY1 =
	-25.248132
	-29.155601

	PDY2 =
	7.125734
	3.136817

	PDY3 =
	-12.632983
	-11.056236


	[DATA]
	
	

	CAMBER =
	4
	4


